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import pandas as pd

import numpy as np

import tree
model_selection import train_test_split
metrics import accuracy_score, confusion_matrix
import datasets
tree import DecisionTreeClassifier5

from statistics import mean
import matplotlib.pyplot as plt

Traceback (most recent call last)

ImportEr
Cell In[

ror
73],

line 5

3 from sklearn.metrics import accuracy_score, confusion_matrix
4 from sklearn import datasets
----> 5 from sklearn.tree import DecisionTreeClassifier5
6 import pandas as pd
7 import numpy as np

ImportError: cannot import name 'DecisionTreeClassifier5' from 'sklearn.tree'
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The name of the file that contains the data (CSV format)

The amount of data used to train the model
(0.5=50% of observations for training, 50% for validation)

Controls the number of observations in each node

Controls the number of nodes in the tree

The name of the column we'd like to predict
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#turning csv file to pandas dataframe & separating features and the label
df = pd.read_csv(INPUT_FILENAME)
df = df.dropna(axis=0, how='any')
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1331 1 62.121212

1332 1 83.832335
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1334 (0] 70.270270

1335 0 100.000000
PCT_POVERTY HIGH_POVERTY Shape__Area

0 54.969325 1 275942.09770

1 37.860082 1 176880.88280

2 57.212714 1 74520.02734

3 19.480519 ©@ 185771.99220

4 52.134146 1 242486.90630

1331 9.948320 0 245228.17580

1332 9.779482 0 407054.95310

1333 16.688919 0 238290.52340

1334 0.000000 0 315044.52340

1335 14.410480 0 129360.87500
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#getting the dummy values of the dataframe

dummyFeatures

pd.get_dummies(features)
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#splitting the dataset into a training and testing set

xTrain, xTest,yTrain, yTest

#setting parameters for decision tree

dTree

DecisionTreeClassifier(max_depth = MAX_DEPTH, min_samples_split

#fitting the tree to the training model
dTree.fit(xTrain, yTrain)
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fig, ax
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plt.show
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#Getting predictions based on training and test sets
yTrainPred = dTree.predict(xTrain)
yTestPred = dTree.predict(xTest)

#evaluating the accuracy of each
trainAccuracy = accuracy_score(yTrainPred, yTrain)
testAccuracy = accuracy_score(yTestPred, yTest)

print(trainAccuracy, testAccuracy)

0.9625468164794008 0.9626168224299065

# Generating Confusion Matrices for the training set:
predicted = yTrainPred

observed
confusio

= yTrain
nMatrix

print(confusionMatrix)

[[104 14]

[ 16 66

71]

confusion_matrix(observed, predicted)

# Generating Confusion Matrices for the validation set:
predictedval = yTestPred
observedval = yTest

confusionMatrixVal = confusion_matrix(observedval, predictedvVal)

print(confusionMatrixVval)

[[ 65 14]

[

6 450]]

# Correct Classification Rate:
# Check whether there is a match between each predicted value (in pred) and the actual value
mean(yTrainPred == yTrain)
mean(yTestPred == yTest)

predRateTraining =

predRate
training

Validation
Percentage

validationPercentage

"{:.2%}" .format(predRateTraining)

= "{:.2%}".format (predRatevValidation)

print("The correct classification rate based on the training set is " + trainingPercentage)
print("The correct classification rate based on the validation set is " + validationPercentage)

The correct classification rate based on the training set is 96.25%
The correct classification rate based on the validation set is 96.26%



